Antenna_approximations for CW portion of the bands
Band 80m 40m 30m 20m 17m 15m 10m
Active Ele. | 124 ft.| 63 ft. | 44 ft. | 31.5 ft.| 24.5 ft.| 21 ft. | 15.5 ft.
Counterpoise| 69 ft. | 35 ft. | 24 ft. [ 17.5 ft.] 13.5 ft. [ 11.5 ft | 8.5 ft.
Inductance [S 1,2,34[ S 1,3 S1 [S356] S3 S3 S 45
Counterpoise should be 180" from active element direction
For best results, use as little inductance as possible, to obtain a match.
How the wire is configured depends greatly with what you have to w%/rjg with
in terms of support trees. The simplest configuration is an inverted where
the wire runs from the tuner, up to a tree branch and back down towards
the ground. An "L" configuration is somewhat better for DX, especially if you

can get the part oftthe wire from the tuner up to the tree as vertical and as

long @s possible. If the wire is run fairly close and parallel to the ground, this
is good for close in contacts.

Print this out 1:1, cover with a piece of clear packaging tape,
cutout, and apply to the bottom of the tuner with two sided tape.



